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Boundary layer equations
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Models of turbulence

Hypothesis concerning turbulent viscosity are considering as
| type models named as “turbulent viscosity model”.

11 type models wich do not use Bossinesq hypothesis are named as “Reynolds stress models”
I11 type models are known as LES (large eddy simulation) models
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Algebraic models of turbulence

They are commonly based on Bossinesq hypothesis.
The most successful of them is Prandtle hypothesis
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| Is a characteristic length in crosscut direction

That formula gives us the viscosity coefficient as a scalar,
and is useful for flux near the wall. More general cases can
be described by the model
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The one of the useful hypotesis is Prandtl and Kolmogorov theory, namely , they
assumed that
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LES (large eddy simulation) models
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